In exercise 3.4.10 I diagrammed John Paul II’s positive argument for his conclusion that abortion is immoral as follows.






There are no objections to premise 3, which states that IF abortion is murder, then its immorality (its “moral gravity”) is apparent.  (If you think premise 3 is objectionable, notice that premise 3 does NOT state that abortion is murder:  it merely makes an “iffy” remark.  Compare:  “if shaving is murder, than its moral gravity is apparent.”)

Now consider premise 2.  Even if you agree with premise 2, you should be able to think of an objection to it.  Type that objection below, then turn the page.

My objection to premise 2:

Premise 2 is not clearly true.  In other words, it is not obviously true that a fetal life at every stage (even as fertilized egg) is a human being in the relevant sense for its destruction to be murder.

Notice that my objection is a mere assertion, with no argument supporting it.  If you gave argument supporting your assertion that premise 2 is not clearly true, then your answer is better than mine.  While my objection is the most common, you may have thought of an entirely different objection.  If so, give yourself a pat on the back!

Notice that I do not, in evaluating an argument, have to prove that premise 2 is false.  I do, however, have to show that its truth is not clear.  If a premise  is not obvious, then any conclusion drawn from it is not obvious, either.

3. The moral gravity of procured abortion is apparent in all its truth if we recognize that we are dealing with murder and, in particular, when we consider the specific elements involved. (para. 3)





2. Procured abortion is the deliberate and direct killing, by whatever means it is carried out, of a human being in the initial phase of his or her existence, extending from conception to birth. (para. 2)





C. Procured abortion is an unspeakable crime.











